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gooooo

O00D000o0o0obobobooooo430000o00o0o

guoooobbboooobobbboooobbboooooobboooo



28 040 O0OO0OOOODOOOOOOOO

y 1.0 T y ‘

08T 121
06T 0T
047 06T

02T

f———————————— f—— } ; | | | ; | | | ;
14 12 -1.0 08 06 -04 0.2 02 04 06 08 10 12 14 10 08 -06 -04 -Q 1 02 04 o6 08 10
Q2+ x b X

047 06T
06T

08T 1271

-1.0—

02 04 06 08 10 12 14
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O0000000y=f)00000000000000000000 (inverse
funtion)) D00 0= fY(y) 000000000 000000000000000O
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gdoooooodoooouodoooouooooooooooooad
O00000000O0sinx0 xe[-n/2,m/2]00cosxd xe[0,7r]0 00000
000 arcsinx = sin"'xOarccosx = cos' x0 000000 440000000
sinx arcsinxJ 0000000

tanx0 x € (—/2,7/2) 00 0000000000000 0OO0O0O arctanx =
tan'xO0 000000000 4500000000000

O000300000000000 (inverse trigonometric function) 0 0 0O O
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z (Re(c) = 0,Im(c) > 0)
arctan(%) + 1 (Re(c) <0, Im(c) > 0)
arg(c) = arctan(%) . (Re(c) <0, Im(c) < 0) (4.5)
-3 (Re(c) = 0,Im(c) < 0)
arctan(ig(g)) (Dooo)
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00000000000000000000000000000
00000000 (10) =(d,argc) D000000000000000000
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c= r(cos(9+ V-1sin 6) (4.6)
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00000000000 000000000000000000000000
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cos(B. +6;) = cosB.-cosB; Fsinb, -sin G, 4.7)
sin(0. + 0;) = sinB.-cosB; + cos O, -sin G (4.8)
tan(0, + 0,) = tan O, + tan 6, (4.9)

1Ftan6, - tan 9,
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(1 — cos(6, + 6,))? + sin?(6, + 6,) = {cos O, — cos(—0,))}* + {sin O, — sin(—6,)}*
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c = 71, (cos 6.+ V-1sin QC)
d = 1y (cos 0;+ V-1sin Gd)
0000000000000 dOo0ooooono

cd = r.rg{(cos O, - cos B; — sin O, - sin O,)

= +V-=1(sin 6, - cos B, + cos Qc-sinGd)}
00000000000 (gODbOOoDoOOoDoOooDoooooog
= rer4{cos(0c + 04) + V=1sin(6, + 0,)}
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led| = lclld]

le/dl = lcl/ld|
arg(cd) = arg(c)+ arg(d) (mod 2m)
arg(c/d) = arg(c) — arg(d) (mod 2m)

(4.10)
(4.11)
(4.12)
(4.13)

O000000a=bmod2n)0a=b+2nm(neN,0<|b|<2n)0 00000
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lim
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2. arccosx0 00O
3.00000000ooooooo-

(@) -3 +4V-1
(b) V-2
(c) sinmt/4 + V=1cosm/6

4. 0000000000000000C++00000 (print_polar.cpp) 0O
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